All India Mock Test KVS PGT PHYSICS

A circular coil of 20 turns and radius 10 cm is placed in uniform
magnetic field of 0.10 Tesla, normal to the plane of the coil. If
the current in the coil is 5A, the torque acting on the coil will be:
20 BRI I TP JABR Hosenl o Brsar 10 9. 8 91 &
0.10 Tesla 9/t ReR FIH &F H HUSell $ dol & wgaq &l
ST B afe @ueel # SA ¥ fIgd oRT yaika & <& s,
HUSAl IR AR SMEO BRI ?

(a) 31.4 newton-metre / 31.4 gSA—HIcX

(b) 3.14 newton-metre / 3.14 gSA—HICX

(c) 0.314 newton-metre / 0.314 gSI—HIcx

(d) zero / T
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The magnifying power of an astronomical telescope is 10 and
the focal length of its eyepiece is 20 cm. The focal length of its
objective will be : / T @My <foRdId & Yaed &H9ar 10 T

SHD &7 o B BIHd g 20 WH. T | S AMGIT o Y
Bied 0 BT ?
(a) 200 cm (b) 2 cm () 0.5 cm (d) 0.5 x 10%cm
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If the radius of first Bohr orbit in hydrogen atom is 7, the radius
of first orbit in helium atom will be : / If FIFSIA TRHY] &
yorF SIER HE B Brar r) B, @ Siferad WA @l erd e
o roar grfy ?

(@) 2r, b) 4r, OF; @ r,
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A common emitter transistor amplifier has a current gain of 50.
If the load resistance is 4KC) and the input resistance is 500KQ2
the voltage gain of the amplifier will be : / Y \HI JHoll
gifoRex wag® § 50 &7 fag@ o gt 8T 21 af o wfoRm
4KQ B T udei ufoRig S00KQ &, a Amplifier § dieeo
v BT ?

(a) 400 (b) 300 (c) 200 (d) 100
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If the quantity of radioactive material reduces by 10% in 5 days,
the quantity that remains @' days will be approximately ?

Ife v Al vl & 7= 5 oAt d§ 10% @e @Y, ar 20
i @ 91 AW HET BN ?
(a) 70% (b) 75% (c) 65% d) 60%
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According to Rayleigh-Jeans law, the energy of wavelength A
radiated by a black-body at temperature T is proportional to :
Rayleigh-Jeans 99 & FTAR Td WM fUve (sl df<N) gwo
Scafota fafewon &1 9 T R aresd —

@3 P WAITR BT Bl ()4 TR T L

(c)%zr} UK BT T | (d)%a% U BT % |
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The binding energy of neutron in deuterium 1H2 will be (Given
that m, = 1.0078 a.m.u., = 1.0087 a.m.u., m, = 2.0141 a.m.u.)
SIeRIA 11—12 & <gHE & du9 SHof grf ?

(afe m, = 1.0078 amu., = 1.0087) a.m.u. T m, = 2.0141
a.m.u.g |)

(a) 2.2344 MeV (b) 4.4688 MeV

(c) 1.1172 MeV d) 7.8 MeV
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At what height from the surface of the earth the gravitational
force will be reduced by 10% (if the radius of earth is 6370
km)? / gedl &1 ¥dg ¥ fohal Sz W ToHET 9 H 10% D
fRrae grft| (afe gedft @t f3rsar e370 f&+. =) ?

(a) 750 km (b) 650 km (c) 450 km (d) 344 km
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A parallel beam of light falls on a thin film of refraction index p
= 1.33 at an angle of 52° with respect to its normal. What should
be the film thickness so that the yellow light (A = 0.4um) is
reflected most intensively ? / T GAMIAR THIA Yol AUac-id
u=1.33 drel gl fhed 4R 52° o1 W) ARell 3| e @ Alers
ﬁm#sﬁﬁstﬁmmm@rfﬁam@rwﬁﬁa=o.4pm)s‘r
oY ?
(a) 0.14pm (b) 0.18um (c) 0.21pm d) 0.24pm
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X, Y and Z are three current - carrying conductors as shown in

the figure. The direction of net magnetic force on conductor Y
will be :

X,Y,Z 2@ 4 g9iY ¢ =@ 31 A (PE) b Y R fagg
GIoId 91 BRI ?

(a) normal to the plane of paper / 94X & w9 & 9 BT |

Ty 3 (b) in the plane of paper towards left/UTR & Tl & §4f IR BN |
(c) in the plane of paper towards right
20AA N AN AN GB0A ﬂ'EF{ $ el -\ql w a:nq gITITI

(d) in the direction of current flow in Y

YH gRT & Yo & fQem & Igwu BN
40A 10
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If the rate of change of current in the coil is unity, the induced

e.m.f. will be equal to ? / IS FHueell H &RT & URTAT B TN 1
g, aI URq fagd aE®d 9 sRER BRO ?

(a) coefficient of self-induction / ¥g—UHcd [0S |

(b) magnetic flux linked with the coil / BScil & ST g Felad |
(c) coefficient of mutual induction / 3= UROT TN |

(d) number of turns in the coil / FISAT H B DI FE&AT|

11
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A 20-volt a.c. is applied to circuit containing resistance and an
inductance in series. If the voltage across the inductance is 12
volts, the voltage across the resistance will be :/T®% uRuer foraH
iR T WS &l H GS 3 399 UAIEdl €RT Yarfad 81 <@l
2l RPa @ aF RRI W) IfT 12 diee fowa 81, @ ufekye &
Ml RRI R dieest fdasm g ?

(a) 8 volts (b) 10 volts (c) 6 volts (d) 16 volts

12
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Which of the following is different for a photon of continuous
X-ray and a photon of characteristic X-ray of the same wave-
length ? T 3FaRa X-fovor S&Rd H9 910 T BIe ool
I avTeed arell X-fafewor 9t wieE § e A few g |
=1 8 7

(a) Frequency / 3Tqfxi

(b) Penetrating power / Had SIfad

(c) Some characteristics of light / ®TeT &1 B faRredrd

(d) Method of production / ScUTa" UfshdAT

13
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The wavelength of K _ line characteristic X-ray emitted by an
element of 0.32 A. The wavelength of K, line emitted by the
same element will be : / T& T@ R Swfoid X-f&Ror &1 K
s &I aviresd 0.32A 2| S 9@ gRT S™feld K, g &1
adreed Bt ?

(a) 0.27 A b) 032 A () 0.39 A d 0.49 A

14
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In a parallel-plate capacitor of capacitance C, a metal sheet is
inserted between the plates parallel to them. The thickness of
sheet 1s half of the separation between the plates. The capaci-
tance of the capacitor will be : / T THMIGR wic dlal GenRkA
Rl aiRar C & WoIRy @ @il @ GaFicR U@ o1g @ e
yfafle & Sl 81 dfic & AleE wiel & 75T B QA BT M
g | "R @ gikar srfr ?

(a) 4C OM (©) 2C @%

15
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A charge g is placed at the centre of the line joining two equal

charges Q. The system of three charges will be in equilibrium if

Q is equal to : / QI HIE SMTAY dTel ST Q P Silew dTell NI
® T UP AT g RNfd fbar Srar g1 9 a9t 59
e o dgeas # @1 O 9adar g afs &1 Ae -

@)} ®) -4  (© @ +5

16
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A circular coil has radius 10 cm, number of turns 100 and varries

a current of 3.2A. The magnetic moment of the coil will be :

T TNMHR Fueell I Fsar 10 T, 81 BA B F&AT 100 8 T
S99 ¥ 3.2 AmP fag[d oRT gaifzd 8 W& | fuscl B gaa

el ghfT ?
() 11.06 A-m? (b) 10.06 A-m?
(c) 13.06 A-m? (d) 12.06 A-m?

17
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Assuming that the surface of the sun emits as a black-body having

maximum intensity near 500 nm wavelength, the temperature of

the sun will be : / I8 9Fd g¢ & T o A8 A (& <o 190
(Tam fUvs) @1 wifd fafexor Safsla kit 21 Rraa ifdeas
<drerar 500 Y. aTeEd @ 9RO AT SR B, O g9 @1 9ag &
dYATE T B ?

(a) 5487°C  (b) 5760°C (c) 5120°C  (d) 6124°C

18
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Two Nicols are oriented with their principal planes making an

angle of 60°. The percentage of incident unpolarized light, which
passes through this system, will be : / & @Il & T | 60°
o oo R fouRa €1 sigfaa smufad werer o wftera wmEm
7T 2 S 3 FreE (@3) ¥ eeR ToRd § 7

(a) 50% (b) 100% (c) 12.5% d) 37.5%

19
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Two parallel straight conductors separated by distance r are

carrying currents I, and I, in the same direction. The forceF

between conductors will be : / & FAMIGR Td W aradd o+
WER r 0 € H 9 o faun & [ 9o [, T %A yared &
T 5| &1 TM aIAd B A R a9 fo 7

@F= ES%%Z pattractive / gaa1d CIERIR)

b)E =%% 11%2 prepulsive / et

©F =%% I]%l pattractive / 3Tl

@)F =%“£ Il%l prepulsive / wfcredt

20
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In a stretched string : / Y& 9 ¢ R (SNI) # —
(a) only even harmonics are produced
DI 99 U (W) ST B B
(b) only odd harmonics are produced
®ad a9 $U9 SO B B |
(c) even as well as odd harmonics are produced
4 dr v $u9 qH SO B E

(d) neither even nor odd harmonics are produced

9d 99 9 &) R g $99 SU B9

21
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What should be the height falling from which a piece of ice
melts when it reaches the earth ? (Latent heat of ice = 80 cal/gm,
J =4.2/cal, g = 10 m/sec?). / 98 YAdH Hdls T BRI & |
T AT W U % &1 ghel Jedl WR Ugaa] QNI avg fued
Wrar 8 °?

(@ @ T HHT = 80 cal/gm, J = 4.2/cal, g = 10 m/sec?)

(a) 33.6 km (b) 32 km (c) 32 km (d) 35 km

22
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A block of mass 100 gm slides on a rough horizontal surface. If
the speed of the block decreases from 10 m/sec to 5 m/sec, the
thermal energy developed during this process will be :

100 ITH. STHATE Tl U sld (b @ear &fael 9ag
fhaerar 8| Ifg =t &1 Ifd 10 4. /9. H USPHY 5 HL /9. B
WY, @ 39 ufhar § S i Sl g@nft ?

(a) 3.25 1] (b) 3.7517 (c) 4.0 d) 4.25Js

23
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The pressure of a gas in a constant volume gas thermometer at
steam point is 105 x 10'* Pa. What will be the pressure at triple
point of water ? / T ReR 3mgas 1 oMiey &1 a9 fdg w®
9 105 x 10“Pa?| 5T & & (triple) fig R o &1 <4
g ?

(a) 1 x 10* Pa (b) 1.1 x 10*Pa

(c) 1.2 x 10*Pa d) 1.5 x 10*Pa

24
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A point source of 6 watts emits monochromatic light of wavelength
5000 A. The number of photons striking normally per sec per
unit area of the surface distant 5 metres from the source will be
(h = 6.62 x 10 joule-sec) : / Y& 6 dic &1 fdg =l 5000 A &I
Uh JUfi TSI BT Schoid &Ral o Ad 9 5 AL & Q4 |
Rerd U |dg & ufd SIS &9%d W o9 3aeen § A
mafta) wieHl o gd |&r (= 6.62 x 10% joule-sec) @1
gRfl ?

(a) 4.82 x 10'° (b) 4.82 x 10716

(c) 4.82 x 10°° d) 4.82 x 10*

25
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1 gm of ice at 0°C is converted into steam at 100°C. The amount
of heat required for it will be : / 0°C @19 4R 1 UM. §% Bl 0°C
d9 R % H uRafda fear Srar 81 9 ufshar § rasas ST
@ qET 8 7

(a) 756 Cal (b) 1200 Cal (c) 716 Cal (d) 450 Cal

26
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If a steel wire has a cross-sectional area of 1 cm?, how much
force is required to triple its length (Y = 2 x 10!! N/m?) ?

I TF Wi & TR & AT &% 1 cm? &), qT SHH! iaTs
B 99 A w1 @ fog fa s o smawamar s8nfr ?

(@) 4x 10N () 6 x10’N ()2 x 10! N (d) 4 x 10’ N

27
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The speed of liquid ejected from a small hole near the bottom of
a filled tank will depend on : / U®% "X ¢ ¢ & Us # Y 7Y
TrE ¥ FPem are g o fd fik ot 7 7

(a) density of the liquid / ¥ & ¥9@ W

(b) area of the hole / % & &Fha W

(c) acceleration due to gravity / THdI @Ol TR

(d) all of the above / SURIGd IHI W

28



All India Mock Test KVS PGT PHYSICS

A long solenoid has 200 turns per cm and carries a current of 2.5
amperes. The magnetic field at its center will be

(u, = 4n x 1077 weber / amp - m) : / (& <4 IS § 200 B
g AW, T & R 25 URRR feE R yaRd @ <&
SHS D% W DI T BT AN FG PTG 7

(1, = 4m x 1077 weber / amp.m)

(a) 3.14 x 1072 weber/m? (b) 6.28 x 1072 weber/m?

(c) 9.42 x 1072 weber/m? (d) 12.56 x 107 weber/m?

29
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A drop of water of radius 10.5 cm has charge equal to that of an

electron. The electric field required to keep the drop suspended
in air will be approximately ? / Y& Sl @1 o foraar f&ean
105 9. & T WX T& Soldgid @ S]6% 349 2| §9 §§ @l
gal H ReR dcdl g3 @ # @A 7] A fagd a3 @
a1 gIFr =ey ?

(a) 410 N/em (b) 260 N/cm (c) 470 N/ecm (d) 120 N/cm

30
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Two vessels of different materials are similar in every respect. The
same quantity of ice filled in them gets melted in 25 minutes and 50

minutes respectively. Ratio of their thermal conductivities is :

=1 gert & AT <1 9d9 i 9 § te wEE B | | A/
@I 3EH A g3 9% HAE: 25 fAWie @ 50 fiMe # fUuer T
SHP AU ATADGAT BT AAT T SR ?

(a) 3:4 (b) 2:1 (¢)1:2 d 2:5

31
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At room temperature (27°C) the runs speed of molecules of a

certain diatomic gas is found to 1930 m/sec. The gas is / R P
dgEE (27°C) R Us a9y fguraA] 49 & 3(opefi &1 avf 9™y
Hel T 1930 4. /9. & | I8 9 &I 41 8 —

(a) H, ) F, © o, @ c,

32
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If P represents radiation pressure, C represents speed of light and
Q represents radiation energy striking a unit area per second, then
the values of non-zero integers x, y and z, such that P*Q’C* is
dimensionless, are : / af¢ P faf&Ror g9 &I, C TSR 9 AT T2l
Q SHE &ABA U YHUS B &R | Hag § <HIH drent fafeswor
SOl B I Hal &1, af IR I QUIHI x, y 9T z S A a1
g 39 UBR & P'Q'C’ U fawrEA smsfa & —

(a) x=1,y=1,z=-1 b) x=1,y=-1,z=1

(c) x=-1,y=1,z=1 dx=1v=1,z=1

33
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The acceleration of a particle increases linearly with time t as bt.

The particle starts from the origin with an initial velocity v . The
distance travelled by the particle in time t will be / Tb HUT Bl
@R P ©T § FHI D STRY 9T B | I§ BT AU HoA fag
¥ URRE AT v, & o ¥ DO BRI W H a4 A T g
BIfI—

| |

(a) v0t+%bt‘3 (b) v,t +%bt3 (c) v,t +§bt2 d) v,t +§bt2

34
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The moment of inertia of a body about a given axis is 1.2 kgm®.
Initially, the body is at rest. In order to produce a rotating kinetic
energy of 1500 joules, an angular acceleration of 25 rad/s> must be
applied about that axis of a duration of : / t& << 37 & aARI
IR T fvs &1 e Smeel 1.2 kgm? 21 URY § I8 fvs
fasmTaRer # &1 1500 S &1 PO RS SHoll S HIA 8
25 rad/s’> BT BT @R SHS & b IR fba 99 & forg
ST ST 9ney ?

(a) 4 second (b) 2 second (c) 8 second (d) 10 second

35
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The distance travelled by a body in moving from rest, what is ratio

between distance travelled in 1 second and 3 second. / {319 31a<eIr
9 TAGHEE Th fivg gRT 9 I 3R Ul 1 Ahvs dAT dieR

PSS © YA ad DI T3 X BT U B °
(a) 1:3 (b) 1:6 OREE d1:1

36
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Twisting couple per unit angular twist is

gfd b1 I Uod &I A€ 9 & G & —

4 4 4 4
@™ e @ @

37
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Equivalent resistance between points A and D will be

fig A dom D & #ea gouial ufeRe s —

102 10Q 10Q
A %w, WM MW—e C
100E 100
o—MW——W\——"W\W— D
10Q2 1002 10Q
(a) 100 (b) 200 (©) 300 () 27.50

38
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A voltmeter can measure upto 25 volts and its resistance is 1000
ohms. Resistance connected in series with it to measure up to 250
volts is : / Y& dlecHIcy 25 dlec O & A AT Hohdl § ol
SHST AR 1000Q B | 250 diee fava S0 H¥A Bg 39 dlecHiex
¥ foaT afoRke sieer 9 o Er 8 —

(a) 1000 Q (b) 9000 Q (c) 2500 Q (d) 250 Q

39
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A resistance 5C) is connected in the left gap of a meterbridge and

15Q in the other gap. The position of balancing point is / & 1.
A & T80 3R 9§ Grell WM W TP 5Q T UfoReE T o

Rea M w® 15Q &1 IR o mam AT 81 Sqed fdg @
Refy ar srfy ?
(a) 10 cm (b) 20 cm (c) 25 cm (d) 75 cm

40
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In an ac circuit, vand I are given by

garadl uR9e # V 9T I B had fear o & —
V =100 sin (100t) volt

1=100sin[ 100+ |

The power dissipated in the circuitis :
qRYY § &g §g SHoll B 99 & —
V =100 sin (100t) volt

=100 sin(100+EJ

3
(a) 104 watts / dIc (b) 10 watts / dic
(¢) 2.5 watts / dfc (d) 5 watts / dfc

41
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The mutual inductance between two coils is 1.25 henry. If the

current in the primary changes at the rate of 80 amperes/second,
then induced emf in the secondary is / & GUSierdl & 7&g A=
NBE 125 T 8| IR wrifie gHusen H orT 80 TR wfy
HPHUS B X ¥ gqoal & a9 fgdiged Areafis gusen d uRkd
fagra s1@ s (EMF) & —

(a) 12.5V (b) 64 V (c) 0.016 V (d) 100 V

42
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There is a current of 1.344 amp in a copper wire whose area of

cross-section normal to the length of the wire is 1 mm?. If the num-
ber of free electrons per cm® is 8.4 x 102, then the drift velocity

would be : / Tid & T& IR H 1.344 UOIR 9 RT ¥ared & s
IR PIC BT AFADBA SHD! @idly W @9 &, 1 mm? 8| IfT ufa
em’ o FAdel &I ST 8.4 x 10? B, 99 sdl f§de O @I

qE B —
(a) 1.0mm per sec (b) 1.0 metre per sec
(¢) 0.1 mm per sec (d) 0.01 mm per sec

43
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Consider the following statements : / 71 HHi R fdaR &N —
(a) Choke of coil is high-inductance coil
HUSell BT APH UH Sod IRbed HUSall Bl 2|
(b) Loss of energy in a choke coil is almost negligible
TP dId HUSAl A Holl BT T T 0 BT 3 |
(c) (a) is true, (b) is false / (a) T & TR (b) A &
(d) (a) is false, (b) is true / (a) 3T & X (b) G 8

44
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Maximum Kinetic energy (E,) of photoelectrons varies with
frequency (v) of incident radiation as shown in graph : / ®Icl
golagidl Bl ferpad TS ol (E) Jmafaa feRom @ smgiT
(v) & ueRid % & o fwu uRafdd skl T

(a)gtu o [ " L o /

vV —> V—" v—)’ v—)z

45
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Two coherent sources of intensity ratio 25 : 9 are used in an
interference experiment. The ratio of intensities of maxima and
minima in the interference pattern is : / & Faford YdRT Bd
ST fiear U 25 1 9 B PN TH AfBIUT WANT H HYad
foar 11| S AfdHRor Yo & maxima 3R minima &7 drear
3qurd a1 BN ?

(a) 25:16 (b) 49 : 4 (c) 64 : 4 d) 8:3

46
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When a monochrome light passes from vacuum to a material and

vice-versam, which of the following characteristics of the light beam

does not change - / 5T Tdh THIUT BT ﬁIT:I'TF[ ¥ fHdt v ugrel
H | Jorar g 7 gt ¥ faiq @ ) Jorar 8, df IS 3
S &I DI Wl Uhfd T8 9l —

(a) velocity / a7 (b) intensity / TrerdT

(c) wavelength / TRTQed (d) frequency / 3mgf

47
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For a system of two separated lenses of focal lengths f and £,
separation for the achromatism should be : / ®15d X £, oI £, &
3 IS @l B TP Ul & forg Sauiedr S1d &¥ 8 BIdd
0 H AR |7 B AMRY —

f —f f +f
()5 b) fi+f,  ©fi-1f ()52

48
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Angular momentum of an electron is an integral multiple of :
TS Folagi &1 I FaT 599 9 fhadr SRfda ol 8T —

a) B (b) 7 Op= @5~

49
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The truth table shown is for which gate -

s (eRF) IRvl fbd I (Gate) & forg &

Input Output

A B Y

0 0 0

0 | 0

| 0 0

| | |

(a) AND gate (b) NAND gate
(c) OR gate (d) NOR gate

S0
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When photons of energy /v fall on a photosensitive metal surface
of work function hv , then : / SSif aTel BISH S BRI%BeT dTell
UHTY Haal oTg H W8 | THl B, q9 —
(a) kinetic energy of all the electrons emitted is /v-hv,

SERfd WR goaEEl @ ARt St Av-hy, R
(b) Kinetic energy of the fastest emitted electron is hv-hv,

WO A TR W SeaRia goaEt @ R ot Ay, 21
(¢) Kkinetic energy of all the electrons emitted is /Av.

|l SEfTd Selggidl &1 Tfast SHoll hv B

(d) kinetic energy of all the electrons emitted is /v,

N SAfold getagidl @1 oS &l BT A hy, 2|
51
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According to Bohr,s theory, the radius of electron in an orbit

described by principal quantum number n and atomic number Zis

proportional to : / 18X & THY P IR, fhedl weam # uRepARd
soigerd, foTa@T & 99icd |1 n T WRATY 6T Z 8, @

rear wAru B8Rt —

Wz 0E 0% @91’

SP
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A potential difference of 42000 volts is used in a X-ray tube to

accelerate electrons. The maximum frequency of the X-ray radiation:

Uh X-fhror Aferdr # solag=l & @RT HIA 8 42000 diec BT
fowaiar e mar omar 21 X-fAfeon @ aftreaw emafir Brft —
(a) 10" Hz (b) 10 Hz (c) 10'° Hz (d) 10*° Hz

53



All India Mock Test KVS PGT PHYSICS

The half-life period of _ P*'’is 140 days. In how many days 1g of
this isotope is reduced 1 to 0.25 g -/ 84P2'"Eﬁ g MY BTl 140
fe 21 foaa fa=i 9 1g ams¥Iey &1 A&7 gcHx 0.25 g T
SITQIT —

(a) 120 days / fa= (b) 140 days / fa=

(¢) 380 days / fa=1 (d) 280 days / f&=1

o4



Which of the following statements is not true ?

i T T A 7 S | G 2 S G 13 =

(a) Lyman spectral series of hydrogen atom lies in the ultraviolet
region of electromagnetic radiation / TSI URATY B ATSHA
S AP PR e SR B owe e sm A o
gl €1

(b) Balmer spectral series of hydrogen atom lies in the visible
region of electromagnetic radiation / SIgSIo UHIY] &I AR
Aage ARt e g AR @ Tw &7 F 1@ O
g |

(c) Paschyen spectral series of hydrogen atom lies in the visible
region of electromagnetic radiations / STSSIo URHT CaORU N
Wagd 4Pt fagagaag fafeor & g a3 # gt rft 2|

(d) Brackett spectral series of hydrogen atom lies in the infra-red

region of electromagnetic radiation. / SIgZIS WA & dde
Waga SRt Regagea [Afeo & gzg &3 § o ax<h &) 55
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A body moves along the circumference of a circular trace of radius

R. What s the displacement of the body when it covers % the of its
circumference - / & fivg, R 3T 91 U6 TOHR T DI

meﬁlmmmw%?mﬁmzﬁr%

ARl Il ol & —
D,

(a) 3R B3R (3R @ R2
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A wire carrying a current of SA is placed perpendicular to a
magnetic induction of 2T. The force on each centimeter of the wire
is/ T® SA & GRT 989 A drell aR D 2T & FIbrg IR0 &
d99q Y@T AT B R b YD WeHIer W I BN —

(a) 0.1N (b) 100 N (c) 10 N (d 1IN

S7
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When a single-lens camera is focused at distant object, the lens-to
film distance is found to be 40.0 mm. To focus on an object 0.54
mm in front of lens, the film-to-lens distance must be / 5§ U&®h
RiTa—clg 71 R & (& 9 W BIHH Hal &, df od A
flheH @ A 40.0mm IS WA 8| o9 S FHA 0.54 mm TR L
Th 9] W BHd B B g o ¥ foed @ g8 e =Ry |
(a) not change / srafRafda

(b) increase by 2.7 mm /2.7 mm ¢! §%

(¢) decrease by 2.7 mm /2.7 mm €< g8

(d) increase by 3.2 mm /3.2 mm ¢ g3
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feer & WHAMIR Bar B

(b) parallel to the direction of polarization of perpendicular to the
direction of propagation / gauT &I e & WAMIGR 3R
o) B em & <iqaq ar 2

(c) perpendicular to both the direction of polarization and the
direction of propagation / gauT &1 faem 3R HwRor o fwm
T B d9dq ST B

(d) perpendicular to the direction of polarizatio and parallel to the
direction of propagation / aoT & e & wgaq MR HIROT
o e @& gEFiR |ar R

Mock Test KVS PGT PHYSICS

For linearly polarized light the plane of polarization is

Mo gdied geer & g gaor ad —

(a) parallel to both the direction of polarization and the direction

of propagation / gauT &1 fdum &R H=xor @1 e = o
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A nichrome wire is 1m long and 1mm? cross-sectional area. When

connected potential difference of 2V, a current of 4A in the wire.

The resistivity of this nichrome is / & 1859 R 1m <4l 8 38R
SHGT IR—URDWIT &A% Ilmm’g| S§ T9 Th 2V &

fovgiay 9 S fear oiar &, dF OR # 4A &) s oRT QemE
Bl B FISHIE ® HdeAsiaar & —

(a) 1077 Qm (b) 2 x 7 Qm

()4 x 107 Qm d) 5x107 Qm
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A galvanometer has an internal resistance of 12 and requires

0.01A for full scale diflection convert it to a voltmeter reading 3V

full scale must use a resistance of / Tdh ﬂﬁFﬁTﬂ—c"\’, ST afk®
R 12Q 8, # ©® T @ fages @ o 0.01A &) smagaadar
gl 81 S9 TP 3V gUf U9 @ TP diecHier QST H I8
o fog g SUART &-AT TRy s9 Uik &1 —

(a) 102, in series / AU H

(b) 412 Q, in parallel / FHiaR H

(c) 288 Q, in series / 30Tt #

(d) 360 Q, in parallel / FHIAR H
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The primary of a 3 : 1 step-up transformer connected to a source

& the second are connected to a resistor R. The power dissipation
R in this situation is P. If R is connected direct to the source it will
dissipate a power of / T& 3 : 1 U—3U TIABHR & USHA Bl
Udh A § T Ahed I P URY | SreT 11 3| 39 Rerfa
d P EREIE B SF dre wfad &1 Ifc g aa | s fear sran
g, dl I8 q9ic BN ga-l Al —

@) b)3 (©) 3P @ 9P
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In Wheatstone bridge, P=9Q, Q =11Q. R=4€ and S = 6{2. How
much resistance must be put in parallel to the resistance S to
balance the bridge - / f&c<9 @ Jd #, P=9Q, Q =11Q. R =4Q
IR S=6Q &l Yo & Hferd o1 @ forg ufiky S @& wHiaR
q fhdar gfoRe T ST =A@mfdy —

@)187Q () 24Q  ©24Q @F0
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In terms of terminal voltage V, back e.m.f. E, & armature resistance

R ; armature current of a d.c. motor is given by / <A dieear V

% emf. E, 3R omfeR 7RRY R & Wag ¥ 1@ S Aex
IR ORI fe@ry Sl & —

\% 1) V+E V-E
@R, GR © R~ @R

a
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According to the Bohr theory of the hydrogen atom, the energy E_

of a state with principal quantum number n is proportional to
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The contact electric field in the depletion region P-n junction is
produced by / U& P-n S & 3[aerd &7 H, us faga—aa Uar
fear Srear & b gRT —

(a) electrons in the conduction band only

®del Al 98 H TS

(b) holes in the valence band alone / ad 919 §s # fog
(¢) electrons and holes together / SoiagiH 3R o8 Ar—Ames
(d) charged impurity atoms / TR FYGAT YA
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a
The equation of state of some gases can be expressed as{P+J

V2
(V-b) =RT. Here Pis the pressure, V is the volume, T is the absolute

temperature and a, b, R are constants. The dimensions of 'a' is :

§o T4 o Rafd &1 THR0r 39 ISR ad fHar o1 "aar ©

a o
_(P'sz] (V->b)=RT GEl, P <99, V 3MIdd, T UIH dIUshH

M a,b,R ReRid & M 'a' D A—H RT & ?
(a) [ML T (b) IML'T?] (c) M'L*T’]  (d) [ML°T]
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A body is released from a great height and falls freely towards the
earth. Another body is released from the same height exactly one
second later. Then the distance between the two bodies, two seconds
after the release of the second body is / U fUvs Bl q9gd Sds 9
BIST AT 3R 98 Yot & 3R Jaa fa & R &1 21 ' @™
fivs 3 Al 918 A T& Ahve 91 Blel ol & | TR s &
BIe O & 3 QHvS g5 < fAvel & dg PT AR T BN?
(a) 49m/#.  (b) 9.8m /. (c) 19.6 m /. (d) 24.5 m /=,
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The weight of a certain body on the surface of earth is 90 kg-wt. If

the mass of the mars is%times of the earth and its radius be half

that of what will be the weight of the body on the mars / gedl &1
HaE W UH fis &1 ¥R 8 90 kg-wt. IE HTd U8 & SAE

qatﬁzﬁamﬂﬁiﬁr%wﬁaﬂ?wﬁﬁwq&laﬁﬁwﬁ

It B, O S fis &1 YR HId U8 W R®T B ?
(a) 10 kg-wt (b) 40 kg-wt (c) 50 kg-wt  (d) 90 kg-wt
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Three rods of equal length L cm and equal of area of cross-section
A sq.cm are joined series. The thermal conductivities of the materials
K, 2K and 1.5 K C.G:.S. units respectively. If 2K is of the first and
last rod are at 200°C and 18°C, the temperature of the junction of
K and 2K is / 99 &d13 L cm 3R IR B & FAM &F5d
A sq.cm ITf 9 B it § Siig Y € | USRIl & ardg ardddr
A K, 2K 3R 1.5 K C.G.S. P-4l & | I} g iR 3ifoH B
o ol RRI & amasd 200°C 3R 18°C 8, df K 3R 2K &1 §rs
BT ATIHA BT —

(a) 74°C (b) 92°C (c) 116°C (d) 136°C
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According to Prevost's theory of exchange
e & faffma figid & sgaR —
(a) All bodies radiate heat at all the temperatures
Tt fves @) auwpdl w® a9 fafdRer vRa #=a €
(b) Only metals can radiate heat
daa o1g a9 fafdRor yRa &R "@aa T
(c) Only hot bodies can radiate heat
daa T five qmu fafdRer yaRT #R G@a T
(d) Only shining bodies can radiate heat

dael gdd g fIvs a fafe=er yaRa &= w9 £
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Ife, and e, are the emissive and absorptive power of a surface ata
given temperature for given wavelength A and E, is the emissive
power of perfectly blackbody for same wavelength at same
temperature, then according to Korchoff's law. / af¢ & fau gy
aashd WR QU areed A @ forg T dag o ScHeid &Har iR
MY &7 SHHE: e, 3MR e, &, 3R SH TETQE] TAT ATUHA W

QUi =ip—diSl Bl Soavid &War E, €, df fevde & g @

AR —
i .
(a) o, = E, ()] e, = E (oae=E () oE =E,
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A cube, a sphere & a circular plate made out of the same material

& having the same mass are heated to the same high temperature,
say 150°C. Which one cools at the lowest rate when put in same
surroundings. / Uh B Ugrf W 99 3R & & 9 didf U °,
U el 3R PR ©ic Bl Tb & Iod dushd, 99 150°C W
TH fHar T B TP B IEERY H S Y@ W S 9 DI
|99 f= ) | g1 8 —
(a) the sphere / T (b) the cube /T4
(c) the rate of cooling will be same for all the three

d= & forg de1 89 @ R wHE 8rf
(d) the circular plate / qTTHR wic
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Given 6 =5.67 x 107 ergs/sq.cm/K*, what will be the temperature
at which a perfect blackbody radiates at the rate of 5.67 watt/cm?.
fear g3l g & 0=5.67 x 1075 ergs/sq.cm/K*, 98 TT9sHH T BT,
/g w® o fage <ta—dfSl 5.67 watt/em? o <) 9 fafdwo
JEIRG BT —

(a) 10°K (b) 100°K (c) 1000°K (d) 10,000°K
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The specific heat of lead is 0.030 cal/g-°C. 300 grams of lead shot
at 100°C is mixed with 100 grams of water at 70°C is mixed with
100 grams of water at 70°C in an insulated container. The final
temperature of the mixture is / 1971 &7 fafdrse a1 0.030 cal/g-°C
g1 100°C TR & T 300 UM, AT P Th ST Wl HeX H
70°C 9Tl 100 UM S & AR fAamr omar g1 fHsor &1 sifts
dIshd BRI —

(a) 100°C (b) 85.5°C (c) 19.5°C (d) 72.5°C
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A solid sphere of mass 50 gm & diameter 2 cm rolls without sliding

with uniform velocity of S cm per sec., along a straight line of a
smooth horizontal table. Its total energy is / 50 ITH Hafd T 2 |,
I 91l U 319 Ml foq1 W v e afast A9 «® &
A YT | 5 . /ABvS B HAM I ¥ deddl ©, dl SHDI

o Holl & —
(a) 87.5 x 10 joule / ST (b) 25 x 107 joule / S
(¢) 250 x 107° joule / S (d) 62 x 107 joule / S
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Two springs are connected on the opposite side of a mass m, kept

on a frictionless surface. The springs are placed horizontally and,
their other ends are fixed on rigid supports. If K and K, are the

force constants of the two springs, the frequency of oscillation of

mass m is / gUIfdeq A R YW@, A9 m & fAWia dal 9, af
AT G 8| HAE BT TS Y@ 97 ¥ 9 S9d R
RR g3 R 9 93 £ I sl & qa—faaie K dem K,
8, S B ]lad AGRT & —

1 kK, 1 [k +k,
(a) 1T - ) 21’5\/ m
1 [k—k, 1 \/ kk, 1
d —_— .
(c) 27 m ( )271; k,+k, m e



All India Mock Test KVS PGT PHYSICS

It is specific heat of a gas at constant pressure, CP iséR. The

2
atomicity of the gas would be / I &l 9 @ ReR TE@ W

WWCPﬁ%RﬁﬂTﬂFﬁWTWﬁTﬂ—

(a) monoatomic / THURHATISH
(b) diatomic / fgURHTI[H
(¢c) triatomic / f2avHAT S

(d) difficult to predict / Urgfdd HIAT B T |
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During the reversible expansion of an ideal gas from volume V_ &

V,, at constant temperature T, the work done on the gas is

Rer a9 T, X fokit el M @ @GI A V. AV, § TR &
aRME TN W) fHar ™ e g9r & —

\Y \%
(a) W=—nRTm logy (b) W=2.303 nRT logy;
| 2
nR XL
(c) W=Tlogvz d) W=—nRT (V,-V)
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The length of arod is 10 min a system S. The length of the rod as

seen by an observer in a system S, which has a velocity 0.8 relative

to c, willbe /S P/ & T BE P <ag 10 #1. 8| B DI oIS
S' g § TS fFPT & AN 0.8 ¢ BT Ifd | Tl T&T 8, BRil—
(a)2m/¥HeX (b)) 4m/ 4 ()6 m/HeR (d) 8 m/ HIex
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